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5/15 5/25 9/21
2010 2009/9/30
5/21 5/31 9/21
5/16 5/25 9/26
2011 2010/9/27
5/20 5/31 9/26
( 8kg) N5.3-P7.0-K5.3 3t
100 (LG3457) N12-P16-K12
John Sheare NM9500/2 7,100 10a
1
(cm) (kg/10a) TDN % TDN (kg/10a)
1002 b 346.0 b 54.6 189.1b
143.8 a 4704 a 52.3 247.4 a
1 2
2 (p<0.01)
3 TDN (TDN=54.18+0.287> (0CC+0a)-0.183>0b)
250 2500 r
200 §2000 r
S
—~ 150 - 1500
&
100 1000 r
50 500 r
0 0
1 2
1 2 1 2
2 :p 0.05 2 p 0.05
2 TDN
(kg/10a) TDN TDN TDN
(kg/10a) (kg/10a) (kg/10a)
687.8 607.5 1295.3 916.6 189.1 1105.8
803.2 870.0 1673.2 1207.0 2474 1454.3
1 :p 0.05 p 0.01
2 TDN ><0.582+ =<0.85
3 ( /ha)
44,455 93,339 3,320 3,238 58,536 259,300 1,532 31,689 1,313 496,722
50,727 259,300 7,481 37,365 6,411 361,284
1,172 /h 80 /L
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